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CERTIFICATE OF COMPETENCY IN POWER 
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OEE-002 : POWER DISTRIBUTION 
SYSTEM - BASICS 

Time : 3 hours 	 Maximum Marks 70 

Note : This paper has two sections — Section A and 
Section B. Both these sections are compulsory. 
Remarks have been mentioned in the 
section/question along with marks. Write your 
answers in English or Hindi language only. 

SECTION A 

1. Fill in the blanks choosing the correct answers 
from the choices given below : 	 15x1=15 

(technical, commercial, voltage, frequency, kWh, 
kVA, temperature, steel, porcelain, current, gas, 
accuracy, conductor, hot spots, rubber) 

(i) Disc insulator is made of 	 

(ii) Panther is the trade name of 

(iii) Low power factor contributes to high 
losses. 

(iv) One unit of energy is 
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(v) Bus 	 is controlled by changing 

transformer taps. 

(vi) In ACSR conductor, the central core is made 

of 	 

(vii) The bus bar should be able to carry expected 

maximum load current without exceeding 

limit. 

(viii) Rating of transformer is in 

(ix) Transformer does not change the 	of 

electric supply. 

(x) Defective metering and meter reading errors 

contribute to 	losses. 

(xi) 	 gloves can be used while doing hot 

line maintenance. 

(xii)	class of static meter is 0-2. 

(xiii) Buchholz relay is 	operated relay. 

(xiv) Tong tester is used for measuring 	 

(xv)	need to be detected in a substation 

during on-line inspection. 
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2. Write True or False for the statements given 
below : 	 10x1.10 

(i) An MRI is an advanced electronic meter. 

(ii) High power factor should be avoided. 

(iii) For oil fires, foam type extinguishers are 
used. 

(iv) - Normally cables are supplied in length up to 
1 km on each drum. 

(v) The rated voltage of 33 kV arrester is 30 kV. 

(vi) BDV of transformer oil should be low. 

(vii) Static meters are called electronic Meters. 

(viii)Winding resistance of transformers should 
be high. 

(ix) Isolator is operated at no load. 

(x) Control supply of protection system is fed 
through AC System. 

3. Match the following , given in Column A with 
Column B : 	 5x1=5 

Column A 	 Column B 

(a) PTW 	 (i) Load 

(b) Relay 	 (ii) Breather 

(c) Silica gel 	(iii) Star 

(d) Diversity factor 	(iv) Fault 

(e) Winding 	(v) Maintenance 
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SECTION B 

Answer any eight (8) questions from the 

following : 	 8x5=40 

4. What factors contribute to T & D losses in 

urban areas ? 

5. How does higher voltage reduce electric power 

losses ? 

6. Why do we need a distribution system ? 

7. What are the reasons of transformer failures ? 

8. Explain the live line maintenance technique. 

9. What are the advantages of opting for 

undergrounding cabling in urban areas ? 

10. Describe the working principle of a 

transformer. 

11. Differentiate between power cable and control 

cable. 

12. How is a fault interrupted by a Circuit 

Breaker ? 

13. What are the roles of batteries and battery 

chargers in a sub-station ? 
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